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1. Choose the correct answer.
The guilty men were sent to . . . high-security prison.
A) the        В) -       C) an      D) a

2. Choose the correct answer.
. . . President will arrive in . . . couple of minutes.
A) The / an	 B) The / a  C) A / a	D) - / a

3. Choose the correct answer. 
“ . . . sure that .. . not Nargiza’s.” said Aziza.
A) You’re / it 		B) You’re / its
C) You’re / it’s 	D) Your / they’re

4. Choose the correct answer.
It is considered that York is a historical city of . . . 110,000 people.
A) among   B) 	any     C) few     D) some

5. Choose the correct answer.
If you ... to learn to play a musical instrument, you . .. practice.
A) wanted / should             B) want / have to
C) have wanted /would       D) want / would

6. Choose the correct answer.
The scientists believe that temperatures could rise . . . than previously predicted if emissions are not reduced.
A) far higher 			B) a lot more higher
C) much more high 		D) much highly
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7. Choose the correct answer.
As soon as you ... to Franklin Street you will see the library.
A) get    B) will get     C) gets     D) got

[bookmark: bookmark16]8. Choose the correct answer.
The babysitter . . . after four children until their parents ... to hire one more to help her.
A) was looking / have decided
B) had been looking / had decided
C) had been looking / decided
D) has looked / decided

[bookmark: bookmark17]9. Choose the correct answer.
I . . . the documents when my father . . . theroom.
A) signed / was entering
B) have been signing / had entered
C) was signing / entered
D) was signing / was entering
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10. Choose the correct answer.
After watching the documentary on global warming, we all felt a bit ... .
A) depressed B) depressing C) depressingly 
D) depress
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11. Choose the correct answer.
... to the theatre, she saw that the performance had already begun.
A) Comes   B) Came  C) Having come  D) Had come
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12. Choose the correct answer.
Do you have any objections to . . . this document?
A) signed  B) sign  C) signing   D) be signed
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13. Choose the correct answer.
He ... be Italian because he’s got a Spanish passport.
A) isn’t able to  B) must C) may D) can’t
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14. Choose the correct answer.
Gulrano remembered the historical dates only . . . the exam.
A) on      B) in    C) at      D) to
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15. Choose the correct answer.
Its quicker to go ... foot than to go . . . car there.
A) with / in  B ) by / by   C) on / by    D) with / by
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16. Choose the correct answer.
- I’ve got a headache.
A) Neither am I B) So do I C) So got I  D) So have I
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17. Choose the correct answer.
My acquaintance . . . me be . . . for his dog for a few days.
A) told / had been looking    B) said / had been looking
C) says / has looked              D) is talking / was looking
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18. Choose the correct answer.
If the boss . . . come in row, we . . . in real trouble.
A) was to / were                  B) were / would be
C) were to / would be          D) was / should be
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19. Choose the correct answer.
. . . , I wouldn’t do that.
A) Were I you                 B) Had I been you
C) If I should you           D) If I had been you
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20. Choose the correct answer.
They don’t know if the leader . . . this application tomorrow morning.
A) would confirm               B) confirm
C) will confirm                   D) confirmed
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21. Choose the correct answer.
She can’t . . . well. It’s so noisy in here.
A) hears  B) listens   C) hear     D) listen
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22. Choose the correct answer.
- Can’t you?
A) I couldn’t get tickets after all, they were all sold out.
B) I can win the election.
C) I can come to the cinema with Bob.
D) I can’t use the computer.

Read the text. Then choose the correct answer for each question below, according to the text.
In 2005, there was an unusual discovery found in Montana. Twenty-four kinds of dinosaurs were uncovered in this one place. Most dinosaurs that were discovered were just bones. One kind was different than all of the others. This dinosaur still had soft tissue. It had cells and blood vessels. This was not known , when the dinosaur was first discovered. A scientist discovered it when she examined it in the lab.
Before this discovery, scientists never thought that tissue in bones could survive more than 100,000 years. The scientists tested the bones. They found that they were 68 million years old. This was the oldest dinosaur ever discovered with tissue.
This type of tissue is found in bones of birds when they are ready to make eggshells. It contains calcium. It is found when birds are ready to lay eggs. The scientists realized they had found a female dinosaur. This dinosaur had laid eggs. The eggs from this dinosaur were very much like bird eggs today.

23. The word “unusual” in the passage is opposite in meaning to ... .
A) bizarre B) strange C) poor D) ordinary

24. Why was this dinosaur so important?
A) It was the biggest dinosaur ever discovered during the Earth history.
B) It had to be taken out with a helicopter.
C) It was in the middle of a lot of other dinosaurs.
D) It was the first dinosaur over 100,000 years old with soft tissue.

25. What did the bone have inside?
A) Dinosaur babies in soft tissue.
B) A material that had calcium inside.
C) A bone that was long, thin, and yellow.
D) Birds which were ready to make eggshells.

26. Why was this discover so important?
A) It showed that dinosaurs didn’t lay eggs
B) It showed that this dinosaur laid eggs like our modern-day crocodiles.
C) It showed that this dinosaur laid eggs like our modern-day birds.
D) It showed that the dinosaur laid eggs like our modern-day mammals.

Read the text. Then choose the correct answer for each question below, according to the text.
Naval architects never claim that a ship is unsinkable, but the sinking of the pas- senger-and-car ferry Estonia in the Baltic surely should have never happened. It was well designed and carefully maintained. It carried the proper number of lifeboats. It had been thoroughly inspected the day of its fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold, stormy night. It went down so quickly that most of those on board, caught in their dark, flooding cabins, had no chance to save themselves. As a result only 139 survived. The rest died of hypothermia before the rescuers could pluck them from the cold sea. The final death toll amounted to 912 souls. However, there were an unpleasant number of questions about why the Estonia sank and why so many survivors were men in the prime of life, while most of the dead were women, children and the elderly.

27. “many survivors were men in the prime of life ...” means that ... .
A) among the survived were only elderly men.
B) among the survived were only men
C) among the survived were only prosperous men
D) among the survived were many young men.

28. One can understand from the passage that the catastrophe of the passenger-and- car ferry Estonia in the Baltic .
A) happened in a cold stormy night.
B) helped naval architects to find out the merits av. l faults of their work.
C) revealed the lack of lifeboats on the board.
D) made naval architects test boats better.

29. It’s clear from the passage, that . .
A) few of the passengers were asleep.
B) most of the passengers died of hypothermia
C) there were only 139 passengers on board.
D) there were 912 passengers on the Estonia.

30. It can be inferred from the passage, that .. .
A) rescuers managed to save only women and children.
B) rescuers saved only 919 people.
C) rescuers managed to save all the people on board.
D) a lot of people died before rescuers could help them.
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